
DLS



WHEN TO USE

• TIER 1 – IN T20 & WL (WIN LOSE) MATCHES

• TIERS 2 & 3 – ALL NCL MATCHES

• WHEN THERE IS AN INTERRUPTION WHICH RESULTS IN THE NUMBER OF OVERS BEING 

REDUCED.



WHAT & HOW TO USE

• LOCATE AND OPEN THE PLAY CRICKET SCORER APP ON YOUR 

PHONE

• GET TOGETHER WITH YOUR COLLEAGUE – AWAY FROM THE 

PLAYERS

• GO THROUGH SLOWLY & TOGETHER



Once open

Do not worry about your 

USERID

Tap the TOOLS icon

That will bring up another 

menu option

Tap on D/L Calculator 



After you have tapped on 

D/L Calculator 

You tap the Duckworth-

Lewis-Stern option

That will bring up the screen 

to the right

This is your starting point



HAVE A GO.
WE’LL START WITH THE EASIER SCENARIOS

• TEAM A HAVE COMPLETED THEIR INNINGS & SCORED 240

• TAP ON 2ND INNINGS TO SEE THE TARGET SCORE



HAVE A GO
WE’LL START WITH THE EASIER SCENARIOS

• TEAM A HAVE COMPLETED THEIR INNINGS & SCORED 240

• TAP ON 2ND INNINGS TO SEE THE TARGET SCORE

• YOU WILL SEE THE TARGET SCORE IS 241



HAVE A GO – WE’LL START WITH THE EASIER 
SCENARIOS

• TEAM B HAVE BEEN BATTING FOR 20 OVERS & REACHED 100-3

• THERE IS AN INTERRUPTION TO THE MATCH, MEANING THE SECOND 

INNINGS IS REDUCED TO 30 OVERS. 

• TAP ON SUSPENSION PERIODS



HAVE A GO – WE’LL START WITH THE EASIER 
SCENARIOS

• TEAM B HAVE BEEN BATTING FOR 20 OVERS & REACHED 100-3

• THERE IS AN INTERRUPTION TO THE MATCH, MEANING THE SECOND 

INNINGS IS REDUCED TO 30 OVERS. 

• THEN TAP ON NEW SUSPENSION PERIOD



HAVE A GO – WE’LL START WITH THE 
EASIER SCENARIOS

• TEAM B HAVE BEEN BATTING FOR 20 OVERS & REACHED 100-3

• THERE IS AN INTERRUPTION TO THE MATCH, MEANING THE SECOND 

INNINGS IS REDUCED TO 30 OVERS THEREFORE THERE ARE 10 OVERS

REMAINING

• ENTER THE DATA AND TAP DONE ON THE SCREEN KEY PAD, THEN 

DONE AT THE TOP OF THE SCREEN



HAVE A GO – WE’LL START WITH THE 
EASIER SCENARIOS

• THE APP HAS PRODUCED A REVISED TARGET SCORE OF 170

• AFTER 20 OVERS THE PAR SCORE OF 95 IS DISPLAYED.

• TO WIN TEAM B MUST ACHIEVE THE PAR SCORE PLUS 1

• TEAM B HAVE ALREADY SCORED 100 RUNS FOR THE LOSS OF 3

WICKETS SO IF THERE WAS NO FURTHER PLAY POSSIBLE THEY

WOULD WIN BY 5 RUNS BY D/L METHOD

• IF PLAY CONTINUES FOR THE REMAINING 10 OVERS THEY WOULD 

NEED TO SCORE 170.



INTERRUPTION DURING THE 1ST INNINGS

• AFTER 25 OVERS OF THE 1ST INNINGS, WITH THE 

SCORE AT 98-2, THERE IS AN INTERRUPTION WHICH 

CAUSES A DELAY & OVERS TO BE LOST

• THE MATCH IS REDUCED TO 35 OVERS PER INNINGS

• TAP DONE THEN

• INPUT THE FINAL SCORE – 150

• PROGRESS TO SECOND INNINGS & YOU SHOULD 

NOW SEE AN ADJUSTED TARGET OF ?
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INTERRUPTION DURING THE 1ST

INNINGS

• PROGRESS TO SECOND INNINGS & YOU 

SHOULD NOW SEE AN ADJUSTED TARGET 

OF ?



INTERRUPTION DURING BOTH INNINGS

• AFTER 11 OVERS OF THE FIRST INNINGS, WITH THE 

SCORE AT 45-0, THERE IS A INTERRUPTION WHICH 

CAUSES A DELAY & OVERS TO BE LOST

• THE MATCH IS REDUCED TO 30 OVERS PER 

INNINGS



INTERRUPTION DURING BOTH INNINGS

• 1ST INNINGS CONCLUDES WITH THE SCORE OF 180

• REVISED TARGET OF ??

• TAP ON 2ND INNINGS TO FIND OUT



2ND INNINGS

• 30 OVERS AVAILABLE – TARGET 203

• FURTHER INTERRUPTION IN PLAY AFTER 9 OVERS OF THE 2ND

INNINGS WITH THE SCORE ON 36-3

• THERE ARE NOW 13 MORE OVERS REMAINING IN THE 2ND

INNINGS

• NEW TARGET SCORE ??



2ND INNINGS

•NEW TARGET SCORE 168


